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— 15 'rawiw puon Han
However, one who was in captivity as a baby, is exempt

OVERVIEW

131 "1 and woph w1 maintain that a 72wIw P1°n is Mo from bringing a 127p
for all the transgressions that he committed before he became aware that
they are prohibited. There is a dispute between >"w7 and nNooIN as to the
reason why "1 °"1 exempt him from a j27p.

— >Ny DN M MIN 992071 Z0900Pa U
*"w+ explained the reason "1 and "1 maintain that a 72wIw PN is MWD
from bringing a 1277 for all transgressions is because they maintain that
one who assumes that a certain prohibition is permitted it is considered as if

he was forced® to transgress the prohibition, but it is not considered as if he was a MW,
that he did it inadvertently.

mooIn disagrees with >"wA:
— 6‘[1):0:1 INTS 123993 I1NIPOT *AN) PN

And noo1n does not maintain this view of >"w- , for the reason %" "1
maintain that 72wIw P10 is Mo is because they agree with 121y as the

X713 states shortly -
— RPN 9921 1999 YWIDM TANNT NIYVL)

And the reason why 21 maintains that a 72ww ?11°n is Mo is because he
derives it from a "D as the X713 explains shortly.

mooIn anticipates a difficulty:
— Y VYD NNV M) 23) (3,191 MINT /2 P92 IMINT XM

" A mawaw pen refers to one who was raised in a non-observant environment and did not know any of the
laws and customs of Judaism. The issue is when he later becomes aware of his Judaism and the prohibitions
that he transgressed; whether he is liable to bring nXur n1127p for those sins.

o A",

? There is a NXVA 277 only for a 221 (one who did it inadvertently) but not for an 011X (one who is forced to
do it).

* He is “forced’ in the sense that it is inevitable that he will transgress, since he has no awareness at all that
this act is prohibited.

3 Moo maintains (as will be evident later in this MdoN) that M MR (generally) is like a xw.

® Later on this Ty. See “Thinking it over’ # 1.

" He derives it from the 0°p109 in (»-v3 ;10 [9W] 12712); see later on this TY.
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And that which the X773 states in the second 95 of n>» noon regarding
Smba, where the 710 writes “maawa (that he was killed inadvertently), and
the Xn>12 states that the word 772322 comes to exclude a case where it was a

premeditated killing; in that case there is no m7i. The X3 there asks it is not

necessary to exclude 711 from m>3, because a 712 is liable for the death penalty -
— 3 MINRY 099 [1'N29 nens pas] (9%aN) WA

And R21 explained that when the Xn»92 said 7117 v19 it meant to exclude a

case of TN IR (he assumed that it is permitted to kill). In a case of M X there
is no M3 27m.

— NI DN 9 9IIN [»2AN nrno pax] (NA9) N 7299
So 28 asked X291 that 9n» %R is considered an ©3I8, how can the Xn»"2 refer
to him as a 7m."" This concludes the Xxm3 there in man. It seems evident from that X7n3
that MM X is an 01X and is 7Vd from any liability.12 This contradicts MdoIN view, that
7N MR is not a sufficient reason to make him w».

mooIn responds:
— 115D 129NN DIPN U527 DN MNP NPT IND

The term ©118 which *2X uses there regarding 201 70X is not precise, for

everywhere else the 7017 71X is liable (and is not considered an 01X). It is -
— 309 AN [N nons pas] (3YAN) DN NPT MY ¥235 NIN

Only regarding n1»» specifically that 821 excludes 2012 228 from M7 -
— Ponn 25n5 1WA NAIVT OIVUN

Because there, regarding mb), the word maz is written many times.
Therefore we exclude "mn IX; otherwise N MR is like a ‘regular’ 2.

mooIn proves his point that 701 X is considered a Jw:
— PMVYA 1N 29957 2) DY GN ATNY NIT NTIAYA 9N IIIN 229NN “‘1".7‘1»: NNT

For in our 95, an anm 2R is held liable (for a 127p) regarding serving

™'y and eating 291, even though the word 733w is written by them. This
proves that 90 N is a AW.

¥ When someone kills inadvertently; the killer is required to be exiled to the vopn ™ (cities of refuge) until
the current 2173 1772 passes on.

X, (°von) 7273,

10 See the marginal note in N> 'on where this is (further) amended to read 727.

' See *"w there 01K 11"7. See footnote # 15.

'2 21 responded that 1mn» X (regarding killing) is a 7% 2. Nonetheless this view that 9nm W is
15 from M7 is shared by both X271 »ax.

13 See (in addition to X, 72712) also 1,7 72TH.

' See 2,2y at the bottom of the Ty regarding 1M2ma 892 33w, See ‘Thinking it over’ # 2.
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mMdoIN responds to an anticipated question:'

— NI DN 91 9IIN 19D 7999 [22AN) nvnd 7v] (N29Y)
And (when) %°28 asked X217 that X%7 9128 0% 99X (he did not mean to ask that
since X177 01X there is no need for a v n [for we have just concluded that 70 IR is a

AMW], but rather 2R asked that since 70 972X 1s more similar to an 01 than to a 7°1) -
— %Y VY9 NIV NN?I22 NINMNY 1YY NN XD

Therefore the Xn>>92 should not have taught that the word a2 excludes
79t (if its intent was [as X217 maintains] to exclude 07 MIX) -

$TO1AD) DIIND 21999 197 N7 DIIND VY9 NN
But rather the &n»12 should have stated that the word 723w2 excludes 91N
(if the Xn»12 meant to exclude N1 2IX), for MM 72X 1s more similar and
‘closer’ to 1R, that it is similar to 75.

SUMMARY

*"P7 maintains that a 72w PPN is MWD since X7 DR MK MR, while
NODIN maintains that AN MR 1s a AW, A 720w 213°0 1is Mo for we derive
it from a ?109 as 1217 explains.

THINKING IT OVER

1. moon asks on *"wn that the reason of %" "1 cannot be because 72X
X177 D1IX MM since (AN MR 1s not 01X and) the reason is because they
agree with 121.'° Perhaps *"w1 meant to explain (with X7 01K Mn M)
that even if 2" " agree with 1211, nevertheless, there a difference between
7awaw 7°n and MDY 027 07, but not that B "1 have a different
explanation than 1am."”

2. Mmoo proves from the X7 later that 2w R is 2»n."® Why does not
MooIN prove this from our XN>72 here regarding a 7aww P13°0 that he is 2°°m
for 2711 ,07 ,naw, etc.? A 7awaw PN is definitely an 901 WK!

'> mooin has just established that AN X is a 3w (and only regarding n23 [where 7w is mentioned
numerous times] is he Mvd]. How can »2aR ask X177 01& 20 IR (implying [as N190IN may assume now, as
opposed to the explanation mentioned previously (see footnote # 11)] that there is no need for a V1¥°» since
he is an 01X), when we have just concluded that 201 X is a 2w ?! See 'n MR "'y TRA R"WIIN.

'® See footnote # 6.

17 See mm M. (See footnote # 6 in TIE nooytw w"> 7"1n.)

' See footnote # 14.
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